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$ sudo apt update # N —IJ—BEZEHITD
$ sudo apt install tenes # TeNeS ZE¥ I 3B

(JTEED $ BIASNFEREZRI SO TCANURLTHRWTT)
(#LBFEFOAY R ZRLULTVWBD T, PIFDAALELSTKRILEXRTY)
(install DX D IT upgrade ICT B EIARTD/NY T —IZFHI 5O TIEFELTLEET W)
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$ cd # GoTo HOME directory
$ cp -r /usr/share/tenes . # TeNeS O V)& I —
$ cd tenes/sample
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$ cd 01_transverse_field_ising
$ cat simple.toml # AN T 71 ILDHES

. Skipped ...
[lattice]
type = "square lattice" JF HIRF
L = 2
W = 9 2x2 1= k)l
virtual_dim = 2 Y R =2
initial = "ferro"
[model]
type = "spin" O« | dubt
Jz = -1.0 A VRE
g; _ 8'8 SR > > Jz=-1, Jx=Jy=0
hx = 0.0 % hx =0
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AJ17 74V simple.toml Zinput.toml ~ & 21 LT tenes % 5

al

$ tenes_simple simple.toml # convert to std.toml

$ tenes_std std.toml # convert to 1nput.toml
$ tenes input.toml # main calculation
# ... Skipped

Onesite observables per site:

Okt

<Sz> DEEL - EEF

Sz = 0.5 0

SX = ~1.28526262482e-13 @  <Sx> DXHB - EHD
Twoslite observables per site: \

hamiltonian = -0.5 0 TRILF—

SzS7 = 0.5 0 B

SXSX = -1.7374919982e-18 0 =TI

SySy = 1.73749202733e-18 0

# ... Skipped ... 5
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$ mv output output hxe # SHEEREZEBEHL T KL
$ mousepad simple.toml # AN T 7T ILERE

[model] [model]

type = "spin" type = "spin"
Jz = -1.0 be Jz = -1.0

JX = 0.0 » JX = 0.0

Jy = 0.0 Jy = 0.0

hx = 0.0 hx = 3.0

(mousepad [FXERD K SBEMGETT 5 TY)
(MALIVE! (Cl3fiCH vim, emacs, nano A> TWBDTRIFEICESF)
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L 7= A7 74 L simple.toml #input.toml -\ & Z5#1 T tenes % &

$ tenes_simple simple.toml # convert to std.toml

$ tenes_std std.toml # convert to 1nput.toml
$ tenes input.toml # main calculation
# ... Skipped
Onesite observables per site:
Sz = 8.05352165651e-09 © <Sz> DEZL - EH
SX = 0.492509565167 0 <Sx> DEEL - EHB
Twoslite observables per site: \
hamiltonian = -1.52140952585 0 TRILF—
SzSz = 0.0438808303474 0
SXSX = 0.488706591605 © =Stk ]S
SySy = -0.040709017/9083 0O

# ... Skipped ... 7
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ik 2 T2 LT DA RDOE LT L EFHIERZEHTE £ 7
Hl{EE 2 FTR2DEATLZD TR 702 FH L DVBRWTT
tutorial_example.py & tutorial read.py 2SHEINTWET

$ mv output output_hx3 # —ILETERBREEZEREEL CTHL
$ python3 tutorial example.py # O/ 9 5 FE1T
$ python3 tutorial read.py # STERRZEZITEHD
0.0 -5.00000000000000000e-01 5.00000000000000000e-01
-1.28526262481782106e-13
0.2 -5.05004176692116613e-01 4.97482489246813320e-01
5.00836559134336876e-02
0.4 -5.20067358911737165e-01 4.89712356048554176e-01
1.00677102836350646e-01

# ... Skipped

$ python3 tutorial_read.py > result.dat # J 7 T ILAKRRE
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71 S 7 A DO REIRISNEZEIZ,

Gnuplot (window id : 0)

ik hx -
qj-/{ I 567%. D O)J’—Z“ 1% 3? — 0.5 —
YA b7 h Difetiiit Sz L
YA+ H7H OEAEAL Sx
onuplot 702y FLTAEL &9 |

$ gnuplot o

ghuplot> set style data 1p

gnhuplot> pl 'result.dat' u 1:3 t 'Sz', '"' u 1:4 t 'Sx'
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03_S1_AFH_square
S=1 pigtkiE A 2 v XV ZEB D N )17 7 4 VA

04_Kitaev_honeycomb
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05_magnetization
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06_hardcore_boson_triangular
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sample DL MiZdH BPython X 7 1) 7' Cld, tenes % tenes_simple 7z &%
Effize LICEITLET

INSDEIT7 7AINAD PATH 5@ > TV AHERH D £7

tenes & MPI WHETT 28561F. A7V 7 M hOBRFDFIZH 5

MPI_cmd ZE1EL T Z 3 W

f# © MPI_cmd = "mpiexec —-np 2"

OpenMP D341 B2 % OMP_NUM_THREADS Z#&E L TL & \»
tenes_simple / tenes_std TlI\>{ DD Python Ny 7 — % 0L LT

NumPy, SciPy, toml
FITRFIC RO S o A IFEEANEL &9

pip3 1nstall --user numpy scipy toml

__user Y EHTDHR—LTA4 LV Z FYMDPICA VA F—ILTEET
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